
A

A

B

B

EE

G

G

 6.80  25.25
M8X1.25 - 6H  19.00

10 PLACES
30.00º SPACED

ON 380.00 B.C.

 6.756 [DRILL #H]  30.00
2 PLACES

180.00º SPACED
ON 380.00

0

 84
.99

 
90

.00
 R

EF
.

 8.
87

 

 22
.25

 

 72
.75

 

 10
2.7

3 

 19
6.5

9 

0

92.10

120.00 REF.

 17.10  (Z)
 17.30  (Y)

 44.70 

 89.30 

 126.30 

 161.30 

 235.50 
 233.30 

 305.30 

 344.70 

 377.30 

 449.30 
 453.90 

 521.30 

 571.30 

  0  

315.00
2 PLACES

315.00
2 PLACES

  0
  

17
5.0

0

19
0.0

0
 

2 P
LA

CE
S

BLOCK THESE HOLES
FROM THE EXTERNAL 

SURFACE USING M6x1 x 12 LG
SOCKET SET SCREW.

BOND WITH GENERAL PURPOSE EPOXY.

Z

Z

DRILL 5.00 THRU
TAP M6x1 x FULL DP

18 PLACES MARKED "Y".

DRILL 5.00 x 17.00 DP
TAP M6x1.0 x 12.00 DP
16 PLACES MARKED "Z".

NOTE: USE CH2914-D005 (OSIRIS ADAPTER
FOR THE 1.5M TELESCOPE ROTATOR AS
TEMPLATE)

175.00 REF.

      TAP M6x1 x 11.00 DP
  8 PLACES MARKED "B"

DRILL 5.00 x 16.00 DP

  260.00  

014
7.9

6

26
2.5

6

0

15.97

52.03

120.03

188.03

0

327.41 REF.

345.00 REF.

375.00 REF.

327.41 REF.

375.00 REF.

345.00 REF.

 375.00  REF.

 158.00  REF.

19.05

DRILL 3.45 x 12.30 DP
TAP #8-32 THD x 8.33 DP

4 PLACES MARKED "K"

50.00

260.00

90.00

26.00

100.00
234.00

  80.00  

0
 15.97 

 52.03 

 120.03 

 188.03 

0  16
4.9

6 

 27
9.5

6 

DRILL 5.00 x 16.00 DP
TAP M6x1 x 11.00 DP

8 PLACES MARKED "S"

         TAP M6 x11.00 DP
 8 PLACES MARKED "A"

DRILL 5.00 x16.00 DP

 375.00  REF.

 375.00  REF.

  270.00  

 5.00  25.00
M6X1.0 - 6H  20.00

8 PLACES

 8.00 THRU
2 PLACES

0 17
.04

 

 50
.96

 

 11
8.9

6 

 18
6.9

6 

32
7.3

8 R
EF

.

34
5.0

0 R
EF

.

37
5.0

0 R
EF

.

32
7.3

8 R
EF

.

34
5.0

0 R
EF

.

37
5.0

0 R
EF

.

0

 158.44 

 273.04 

  0
  

20
0.0

0
3 P

LA
CE

S

20
0.0

0
3 P

LA
CE

S

  0  

200.00
3 PLACES

200.00
3 PLACES

  0
  25
6.0

0
TY

P.

  0  

256.00  TYP.

A A

AAAA

AA

B B

BB

BB

BB

Y Y

YY

Y Y

YY
Z

Z

Z

Z

Z

Z

Z

Z

Z

Z

Z

S S

SS

S

S S

S

SEE NOTE 6

SEE NOTE 6

SEE NOTE 6

Y

YY

Y Y

Y Y

Y Y

Y

Z

Z Z

K

KK

K

G

G

DRILL 10.72 [ .4219"] x 25.40 DP
TAP #1/2"-13 x FULL DP
8 PLACES MARKED "R"
EQUALLY SPACED 
ON 660.40 B.C. [26"]
AS SHOWN.

 6.80  22.25
M8X1.25 - 6H  16.00

4 PLACES
EQUALLY SPACED
ON 282.00 B.C.

  295.00 X 5.00 DEEP  

  270.00  

 8.50  26.50
M10X1.5 - 6H  19.00

4 PLACES

 8.50  26.50
M10X1.5 - 6H  19.00

12 PLACES
EQUALLY SPACED
ON 600.00 B.C.

660.40  REF.

 26.00 
22.5°

  0
  

30
0.0

0
2 P

LA
CE

S

30
0.0

0
2 P

LA
CE

S

  0  

300.00
2 PLACES

300.00
2 PLACES

BENT +X PORT

CALIBRATION PORTMOUNTING SURFACESECTION  A-A SECTION  B-B

ISOMETRIC VIEWS

SECTION  E-E

R R

R

R

RR

R

R

A

G

G

FAR SIDE

FAR SIDE

STRAIGHT PORT

STRAIGHT PORT

BOTTOM PORT

BENT -X PORT

CALIBRATION PORT

BENT +X PORT

MOUNTING SURFACES

SCALE 1:8

 15.00 

 58.00 

 170.00 

DRILL 3.45 x 12.30 DP
TAP #8-32 THD x 8.33 DP
4 PLACES MARKED "L"

 86.00 

 127.00 
TYP.

 127.00 
TYP.

 193.00  TYP.

 324.00 
TYP.

 5.00  25.00
M6X1.0 - 6H  20.00

8 PLACES

35.00
2 PLACES

 5.00  25.00
M6X1.0 - 6H  20.00

8 PLACES

  0
  60
.60

60
.60

  0  

190.00
2 PLACES

415.00
3 PLACES

640.00
3 PLACES

  0
  

31
5.0

0
3 P

LA
CE

S

31
5.0

0
3 P

LA
CE

S

L

L L

L

DRILL 5.00 x 17.00 DP
TAP M6x1.0 x 12.00 DP
4 PLACES MARKED "Q".

QQ

Q Q

ON 600.00 B.C.

M10x1.5
12 PLACES
EQUALLY SPACED

  355.00 X 5.00 DEEP  

  330.00  

 6.80  22.25
M8X1.25 - 6H  16.00

4 PLACES
EQUALLY SPACED
ON 342.50 B.C.

2X  8.00 THRU

 8.50  26.50
M10X1.5 - 6H  19.00

4 PLACES

375.00  REF.

375.00
REF.

0

 30
0.0

0 
2 P

LA
CE

S

 30
0.0

0 
2 P

LA
CE

S

0

 300.00 
2 PLACES

 300.00 
2 PLACES

  0
  

25
6.0

0

  0
  25
6.0

0

  0  

256.00

  0  

256.00

CH2925-E029

.X ± .25

.XX ± .08
± 0°30'

METRIC

IR-ISB MOUNTING HOLES 

NATIONAL SCIENCE FOUNDATION
UNDER COOPERATIVE AGREEMENT WITH

OPERATED BY THE ASSOCIATION OF UNIVERSITIES FOR RESEARCH IN ASTRONOMY

CERRO TOLOLO INTER-AMERICAN OBSERVATORY

CH2925-E020 - ISB.SLDDWRREF FILE

ISBs for SOAR

USED ON

CH2925-E020
REV

B
-OF-SHEET

DWG N°

RELEASEDDATE

DATE

DATE

APPROVED BY

APPROVED BY

APPROVED BY

-
DATE

Jun 2002
DATE

May 2002
DATE

CHECKED BY

-

Juan Gallardo
DRAWN BY
Fernando Santoro
DESIGNED BY

PRINT ISSUED

SCALE

1:4 & NOTED

NAMENEXT ASSEMBLY

ANGULARDECIMALS
TOLERANCES UNLESS OTHERWISE NOTED

UNLESS OTHERWISE NOTED:NOTES:

REF:17553 ISC INSTRUMENT BOX-STAINLESS STEEL, TYPE 304

INTERNAL SURFACES PAINTED WITH FLAT BLACK.

1

5. MAT'L :

4. QTY : 

3. FINISH : 

1. REMOVE ALL BURRS AND SHARP EDGES

2. MACHINED SURFACE ROUGHNESS: 125

A

2 1

B

C

D

E

F

G

H

2

LTRZONE

REVISION

DESCRIPTION

1

DATE APVDBY

7 6 5 4 38

A

B

C

D

E

F

G

H

8 7 6 5 4 3

FSJGDFeb 20038 HOLES #1/2"-13 ADDED ON BENCH +X PORT (OSIRIS)AH4

NATIONAL OPTICAL ASTRONOMY OBSERVATORIES

6. DIMENSIONS ON SECTIONS A-A, B-B AND E-E ARE SHOWN FOR REFERENCE ONLY
   (USE TEMPLATES ON CH2925-E029).

7. SEAL 6 POSITIONS MARKED "G" FROM THE INSIDE 6 mm DEEP. USE RTV SILICONE RUBBER COMPOUND AFTER FINISH.

B FSJGDJuly 2003ADD FINISH


	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Section View B-B
	Section View E-E
	Drawing View7
	Drawing View14
	Drawing View15
	Drawing View17
	Drawing View29


